i AN

/A

ANCS,

\2// J
 ZARRY,

T

N

AN
/AN

NA

\ ]

\! \/,







= 161mm 169mm -

= x 1 x 11 x 1 x3

= x 6

= x 2 x4 x 2 13 mm

Sz

x 63 x 12 x 1 x 9 x 8 x 8
5 x 35 M5 x 20 K3-90001 28,4 210 x 60 M8 x 70

T 9P 1P F e

ChC R O

x 1 x 1 x 2 x 1 x 16
a20 28 M4 x 10 M6 x 6 M5 x 20

@i

x 1 x 1 x 1 x 2 ®
M20 6 x 25 06 x 40 96 x 40

©
@ )

@ )

(@ == m— E] @,
|

M8 x 70







209 mm

219 mm

234 mm

214 mm

N

N L[]

204 ... 234mm

U

N

224 mm




209 mm

219 mm

234 mm

204 mm

214 mm

229 mm

NS N a— |

N

I

1]

U

S

204 ... 234mm

224 mm




0 ...6 st (pcs)

P
= +1
@QQ@ st (pcs)

-
<=

oo
lc e )

S
=
&

PR -X =L ol
c <)

e
NxT P

5 st (pcs) x 12

60 st (pcs)

2773

2778

2783
2788
2793

A=An

ro o afala

A
>0 » Njojo-

N
0...6 st (pcs)

5 5
5 6
2783 5 7
2788 5 8
2793 5 9
? il
A
T] /4
H [2778 mm




st

st

2]
—

mm pcs pcs| mm pcs pes| mm pcs pecs| mm pcs pcs| mm pcs pcs| mm pcs pes
2040 0 0] 2195 3 1] 2244 0 0] 2414 3 1| 2448 0 0] 2633 3 1
2045 0 11 2200 3 2| 2249 0 11 2419 3 2| 2453 0 1] 2638 3 2
2050 0 2| 2205 3 3| 2254 0 2| 2424 3 3| 2458 0 2| 2643 3 3
2055 0 3| 2210 3 4] 2259 0 3| 2429 3 4| 2463 0 3] 2648 3 4
2060 0 4] 2215 3 5| 2264 0 4| 2434 3 5| 2468 0 4] 2653 3 5
2065 0 5] 2220 3 6] 2269 0 5| 2439 3 6| 2473 0O 5] 2658 3 6
2070 0 6] 2225 3 7| 2274 0 6| 2444 3 7| 2478 0O 6] 2663 3 7
2075 0 7]2230 3 8] 2279 0 7| 2449 3 8| 2483 0O 7] 2668 3 8
2080 0 8] 2235 3 9] 2284 0 8| 2454 3 9| 2488 0O 8] 2673 3 9
2085 0 9] 2240 4 0] 2289 0 9| 2459 3 10| 2493 0 9] 2678 3 10
2090 1 0] 2245 4 1] 2294 0 10| 2464 4 0| 2498 0 10| 2683 3 11
2095 1 1] 2250 4 2| 2299 1 0| 2469 4 1] 2503 0 11] 2688 4 0
2100 1 2| 2255 4 3| 2304 1 1| 2474 4 2| 2508 1 0] 2693 4 1
2105 1 3] 2260 4 4] 2309 1 2| 2479 4 3| 2513 1 1] 2698 4 2
2110 1 41 2265 4 5| 2314 1 3| 2484 4 4] 2518 1 2] 2703 4 3
2115 1 5] 2270 4 6] 2319 1 41 2489 4 5| 2523 1 3] 2708 4 4
2120 1 6| 2275 4 7| 2324 1 5] 2494 4 6| 2528 1 41 2713 4 5
2125 1 71 2280 4 8] 2329 1 6| 2499 4 7| 2533 1 5] 2718 4 6
2130 1 8| 2285 4 9] 2334 1 7] 2504 4 8| 2538 1 6] 2723 4 7
2135 1 9] 2290 5 0] 2339 1 8] 2509 4 9| 2543 1 7| 2728 4 8
2140 2 0] 2295 5 11 2344 1 9] 2514 4 10| 2548 1 8| 2733 4 9
2145 2 11 2300 5 2| 2349 1 10| 2519 5 0] 2553 1 9] 2738 4 10
2150 2 2| 2305 5 3| 2354 2 0] 2524 5 11 2558 1 10| 2743 4 11
2155 2 3] 2310 5 4] 2359 2 1| 2529 5 2| 2563 1 11| 2748 5 0
2160 2 4] 2315 5 5] 2364 2 2| 2534 5 3| 2568 2 0] 2753 5 1
2165 2 5] 2320 5 6] 2369 2 3| 2539 5 4] 2573 2 1] 2758 5 2
2170 2 6] 2325 5 7| 2374 2 4] 2544 5 5| 2578 2 2| 2763 5 3
2175 2 7] 2330 5 8] 2379 2 5| 2549 5 6| 2583 2 3| 2768 5 4
2180 2 8] 2335 5 9] 2384 2 6| 2554 5 7| 2588 2 4] 2773 5 5
2185 2 9] 2340 6 0] 2389 2 7| 2559 5 8| 2593 2 5] 2778 5 6
2190 3 0 2394 2 8| 2564 5 9| 2598 2 6] 2783 5 7
2399 2 9| 2569 5 10| 2603 2 7| 2788 5 8

2404 2 10| 2574 6 0| 2608 2 8] 2793 5 9

2409 3 0 2613 2 9] 2798 5 10

2618 2 10| 2803 5 11

2623 2 11| 2808 6 O

3 0




@ 120 cm

@ 140 cm







2x ® 3mm ¥ 25mm

@ 10mm THRU ALL

1







13









m

)

i










19



Ll

v 5 mm

@4 mm






















e
S
o
>
X
o\

IS
£
o
~
>

2x @ 3mm ¥ 25mm

e~
S ——

h

2X @6 mm
¥ 70 mm

TN\

[T 1

A/:\ AL
NS R







